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Paper Il : Organic Chemistry

Section—A | x8=8
1. In PMR Spectrum compound CH3;—O0—C,H; gives PMR signals :
CH3;—0—C,H;s % PMR Spectrum ¥ PMR farei &1 &1 &—
(a) 1 (b) 2 (c)3 (d) 4.
2. The possible electronic transition for CH;Cl molecule is : CH;Cl 379
H gzl HhH1 YT AT §—
(a)6— 6" (b)n— 6" ()nm— A” (dn—on.

3. Which compound reduces Tollens reagent ? /a0 fysds =1
yafaa st §—

(a) Sucrose I (b) Starch ®=

(c) Glucose TgHIS (d) All Gt |

4. Neoprin is a polymer of : a1y frasw aga= § ?

(2) Chloroprene FARIS (b) Butadiene ST8TET
(¢) Isoprene TSR (d) Styrene &I |

5. Which type of Hybridisation found in Pyrrole is ? 93Ud ¥ fofg @@
1 HH 91 S § ?

(a) sp (b) sp? (c) sp? (d) dsp?.

6. Reaction between Grignard reagent and Acetone gives :

sifvareda qur T #t sfufear | wra g f—

(a) Methanol A=A (b) Propanol u‘rﬁqm

(¢) Ethanol 387161 (d) 3°-Alcohol ¥THEH |

7. Alizarin is a : TSS9 § TF—

(a) Anthraquinone dye Q‘Wﬂ {d% (b) Azo dye TSI I (c) Tri-
Phenyl Methane dye ZI8%a1 i8R {51 (d) Pthalein dye ¥e9 9@ |

8. Natural Ziegler-Natta polymerising catalyst is : Wsfdeh. femeR-mn
TR ICNEH TR : |

(a) (CoHs),Pb (b) (C-Hs),Hg  (c) TiCl,.Al(C5Hs), (d) Fe(CO)s.

Section—B ' 2x5=10
1. Write a note on equivalent and non-equivalent protons in ‘HHNMR

Spectroscopy’. ‘HNMR ¥R’ gaged iR sraaged e W fewui

fafEy | 7T .

What is chemical shift ? Discuss the factor affecting the chemical shift.
Tt farues w1 § 7 Tarafs fawrgE & yaifaa & 96 FRE
?.F?H FHife |

2. Compare the basicity of Pyrrole. Pyridine and Piperidine. I3,
fafcem aun e 2 sifers yifs &1 g1 Hiferg | gar

Write the mechanism of Nucleophilic Substitution reactions in Pyridine

derivatives. TRTEH gea— § faeraiwices sfaeamga sifufea &t fnaifafy
fafaa
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3. What is the basis of tyclic structure of D @ glucose ? TS & a9
HTE 61 391 YR ? _Rgar

Explain Lobry de Bruyn-Van Ekenstein rearrangement. Stsit €I 931-
M THEH = %I GHEe | f

4. Describe the method of preparation and two application of

Carbozine compound. FEiTss® Afiw & F9H &1 fafy wd < 3w =1 gviF
A | - g
Discus the helical structure of DNA. €. @i, 0. ¥ ®iia =T &1
faa=n wifee) .
5. Write a note on Zwitter ion. T=5e7 3ma= g feoqoi fafaa HGar
Write a note on Ziegler-Natta-Polymerisation. fST&R AgT Sgamhis T

feauft fafaa |
Section—C Ix5=15

1. A organic compound CoH,. gave the following spectral data : &3
T Wi A fwe vEga CoH,, &, Frafafes Wega e wefifa =@
T

UV = Amax 268 nm, emax 480

IR : Significant absorption band at 3065-2910, 1608 and 1473 cm™!

W TEAYl SENIE A0S Waldid L —

PMR : 8 2:26 (9H, S) and 6-79 (3H, S) S —Singlet

Explain the Spectral data, derive the structure of compound.

¥ ST T AT ) HE e

2. How will you convert ? 711 1 &8 W<t &0 2 ~

(a) Fructose from Glucose 7@ ¥ WM, (b) Glucose from

Arabinose 3RS @ 7T, (¢) Glucose from Fructose FeISl ¥ Te[&hIs, -

(d) Glucose ihto Saccharic acid TS | EeEECT 3?‘%1 L \
3. How will you prepare following dye ? /=1 {5 9 =i ? )
(a) Alizarin TG, (b) Indigo 1@, (c) Crystal Violet fsiest a1gete,

(d) Congo red & (| :

4. (a) Convert Grignard reagent into the following compound : 1D UEIES
syt 1 fr= Aifirl | sefae— ‘

(i) Butene- 21~ 1, (i) Acetaldehyde Wa2{ee®Tss, (iii) Tertiary butyl
Alcohol Tad =fed IR | _

(b How will you preare =il He®Ifa 37 W (i) Benzene S, (ii)
Benzonitrile from Benzene Sulphonic acid S=iFTEZEA F TAAT

5. Write following synthesis : F= &1 dveiwor fefa—

(a) Skraup Synthesis Th1Y H¥9Y, (b) Friedlander’s Synthesis

wee-ed §vaWY, (c) Industrial Synthesis of Pyrrole folie =1 #tenfirs
eI |
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